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Q. Convert, showing all calculations, the $20.8 million balance in the Hydraulic 1 

Production Variation component of the RSP to a GWh balance based on 2 

Hydro’s 2007 forecast test year cost per barrel of No. 6 fuel and the 2007 3 

forecast test year Holyrood energy conversion factor of 630 kWh per barrel. 4 
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A. The $20.8 million Hydraulic Production Variation component of the RSP 7 

represents 234 GWh.  The details of the conversion are as follows: 8 

 

 

 

 

 

 

 

 

 

Descriptive Numerical
Calculation Calculation
Hydraulic Production Variation Component of the RSP $ 20,800,000        
Divided by /
2007 forecast test year cost per barrel of No. 6 fuel $/barrel 56.12                 
Equivalent barrels barrels 370,634             
Multiplied by X
2007 test year energy conversion factor kWh/barrel 630
kWh 233,499,420      

GWh 234


